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( ENGLISH VERSION )

Answer the following questions ( Alternatives are to be noted Jii 85=40
(a)  What do you mean by proposition ? Distinguish between categorical and
conditional proposition with example. 24+6

OR
Transform the following sentences into their logical forms and mention
which terms are distributed and which are undistributed - (1+3+3)~4

(b)

(c)

(i A man can never be a God.

(i)  Not all applicants are truthful.

(i)  Only educated persons are progressive.
(iv)  Philosophers may be scientist.

What is meant by opposition of proposition ? What are the conditions of

opposition of proposition ? What is meant by contradictory opposition ?

Distinguish beween confradictory and contrary opposition of proposition.

2+2+2+2
OR

Draw the square of opposition of proposition according to Traditional Logic.

(1) If A proposition is true then what will be the truth value of
I proposition ? -

(i) If I proposition is true then what will be the truth value of
A proposition ? -

(i) If E proposition is false then what will be the truth value of
I proposition ?

(ivy If O proposition is false then what will be the truth value of
E proposition ? 4+1+1+1+1

How many types of immediate inference are there ? Name them. What is
obversion ? Explain the rules of obversion with example. 2+2+4

OR
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(d)

(e)

Transform the following sentences into their standard logical forms and give
the converse of the obverse : (L+d+d)xq

() 75 per cent of businessmen are honest.
(i)  Not all educated men are gentlemen.
(iii) There is no sclfless man.
(iv)  Any student of science knows the answet of this question.
Transform the following arguments into standard logical forms. Name their
moods and figures and determine their validity : il
() Only dishonest persons are coward; He is not coward, therefore, he is
not dishonest. ' |
()  Rabindranath is a philosopher, because he is a poet and every poet is
a philosopher.
OR
Write short notes on the following topics with appropriate examples : 4 + 4
(i) Figures of categorical syllogism.
(i)  Fallacy of illicit minor.

Discuss the method of concomitant variation as given by Mlll with
definition, form, example, advantages (two), disadvantages (two).

‘ 1+2+41+2%2

OR .

“Rust does not form on the iron in absence of oxygen in air. Therefore, the
presence of oxygen is the cause of forming rust.” — Which method of Mill is
applied in the said case ? Explain the method. (Identification, definition,
form, advantages (two), disadvantages (two)) 1+1+2+2+2
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( HINDI VERSION )
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